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for edr2-20231203 (r arm)

Satoshi Hamano (NAQO)J)
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Width difference between model and calExp images
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Cross-cut profiles and residuals

visit=97036 arm=r spectrograph=1
f=218, X=2675.3

Y=417 (dx=nan, do=nan) Y=835 (dx=-7.2e-03, do=9.9e-02) Y=1252 (dx=-2.8e-03, do=9.5e-02)
I - F:S:‘v\'\’;?\ o=nan) -1 I — f’xg:érgs 05, 0=127) ] I = F:S:Azrg;n.sa. 0=1.26)
I calExp I calExp | calExp
1 === (x=nan, o=nan) 1 = (x=2675.04, 0=137) 1 = (x=2674.58, 0=1.36)

w— Residual*5 w— Residual*5

w— Residual*s

1 1
T T T T T T T T
Y=1670 (dx=6.0e-03, do=1.1e-01) Y=2088 (dx=4.9e-03, do=1.0e-01) Y=2505 (dx=-1.0e-03, do=1.1e-01)
1 - Fli/;ga 36, 0=127) I —— (pxszzrg;a 34,0=127) I [ ?xszz'en;n 48, 0=127)
1 calExp 1 calExp i 1 calExp
1 = (x=2674.37, 0=1.38) n 1 = (x=2674.34, 0=137) 1 = (x=2674.48, 0=138)
1 m— Residual*s 1 m—Residual*s m—Residual*s

= Trace == Trace

1 1 1
T T T T T T T T T T T
Y=2923 (dx=nan, do=nan) Y=3340 (dx=-5.3e-03, do=1.6e-01) Y=3758 (dx=-3.8e-02, do=2.7e-01)
H pfsArm H pfsArm 4 pfsArm
=== (x=nan, o=nan) I = (x=2675.41, 0=1.28) | = (x=2676.39, 0=1.28)
1 calExp i 1 calExp 1 calExp
1 === (x=nan, o=nan) 1 = (x=2675.40, 0=1.44) 1 = (x=2676.36, 0=1.55)

m— Residual*s m— Residual*s m— Residual®s

= Trace

= Trace = Trace
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edr2-20231203, r1, Average of dsigma/sigma from extractionQA
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The r3 data of 82595-83249 “-f..":"m"',; I “Hl | e lm | 1
visits have very large residual. | I :: i m m il 1 |

i
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Large residual in quartz data l
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An example fiber with large residual
(Visit=82595)

visit=82595 arm=r spectrograph=3
f=1337, X=3828.1

calexp Residual Chi 6 Chi Peak center diff. Width diff.
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Y=417 (dx=3.7e-02, do=-7.2e-01)

T
pfsArm
(x=3826.23, 0=1.97) I

calExp
= (x=3826.26, 0=1.25)

we_ Residual*5
== Trace

f=1337, X=3828.1

Y=835 (dx=4.5e-02, do=-7.9e-01)

Cross-cut profiles and residuals (visit=82595

visit=82595 arm=r spectrograph=3

Y=1252 (dx=4.6e-02, do=-8.0e-01)

Y=1670 (dx=1.8e-02, do=-7.2e-01)

T
pfsArm
| = (x=3823.92, 0=2.01)

calExp
f—(x=3823.97, 0=1.23)
w— Residual*S
= Trace
‘-:’gﬁ:FjE -
1
T T

-7-

pfsArm
| — (x=3822.92, 0=2.02)

calExp
— (x=3822.97, 0=1.22)
— Residual*s

- Trace
I
I
—_—f e - - ——
I
1
T T T

| pfsArm
= (x=3823.01, 0=1.95)

calExp
= (x=3823.03, 0=1.23)
= Residual*s

= Trace

Y=2505 (dx=4.0e-02, do=-8.5e-01)

Y=2923 (dx=8.9e-03, do=-8.6e-01)

Y=2088 (dx=6.0e-02, do=-8.3e-01)
pfsArm
= (x=3823.95, 0=2.06)

T
calExp
m— (x=3824.01, 0=123)
— Residual*s
= Trace
QG-:EEEFi
T T

T
1 pfsArm
= (x=3825.81, 0=2.07)

calExp
—(x=3825.85, 0=122)
m— Residual*5

== Trace
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1
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|
1
T T T

Y=3340 (dx=-7.5e-03, do=-8.5e-01)

Y=3758 (dx=-2.7e-02, do=-8.3e-01)

1 pfsArm
= (x=3828.59, 0=2.09)
calExp
= (x=3828.59, 0=1.23)
m— Residual*s
- Trace

L]

1 pfsArm
f— (x=3832.43, 0=2.10)

1 calExp

I fm—(x=3832.43, 0=1.25)

w— Residual*s

= Trace

L]
1
1
1
I
1
I e —
1
I

1 pfsArm
= (x=3837.61, 0=2.12)

calExp
I = (x=3837.58, 0=129)

— Residual*s
- Trace
]
- ]
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Width difference between model and calExp images
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dX map (r3
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edr2-20231203, r3, Average of dsigma/sigma from extractionQA
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